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2.2K_+-1%
ETH_MDIO LED_1: on for 100 Mbps, off for 10 Mbps
18 1
ETHO_TXCLK 2 11 ETHO_TDN
TX_CLK O M3 ETHO_TDP ETHO_LED1 R79 sy 4700hm +-1% L1
ETHO_TXEN 3 TD_P
TX_EN/TX_CTRL 9 ETHO_RDN l R78 249K +-1%
ETHO_TXDO 4 RD_M {5 ETHO_RDP
ETHO_TXDT &_B? RD_P D3.3V
ETHU_TXDZ o ETHO_25MHZ D3.3V o
ETHO_TXD3 £ TX_D2 xi4-53 = D3.3Vo L
= 22
TX_D3 X0 ETHO_TDP R1
ETH_MDIO 19 17 ETHO_LEDO D3.3V c74 c75 | T
MDIO LED 0 f 57 ETHO_LEDY R82 = 0.1uF_16V= 1uF_6.3V R2
ETH_MDC 20 LED_1/GPIO1 29K +19% T
MDC N T ETH_RESET# ehTe ETHO_TDN R3
ETHo COL 29 1 coLiapioz RESET Res =
16 R86 487K +-1% 19 N
ETHO_CRS 27 RBIAS = D DGND 22K _+1% DEND ETHO_RDP R4
CRS/CRS_DV s ETHO_INT_PWDN#
ETHO_RXER 28 INT/PWDN D3.3V R5
—_— By ERr D3.3V Q
ETHO_RXDV o ETHO_RDN
e %6 Moy DVURX CTRL AVD 14—| = RS -
ETHO_RXDO 30 21 C76 c77 Cc78 7
ETHO_RXDT 3t | AXDo VbDIo cre c80 cat cs2 == 0.1uF_16V=F 1uF_6.3V == NI_10uF_10V rE| e 2x/100088,
ETHU_RXDZ 3 - 1 = 10uF_10V == 1uF 6.3V =F 0.1uF_16V=F 0.01uF_50V G N
ETHU_RXD3 RX_D2 NC1 L3
RX_D3/GPIO3 NC2 ruad Gnp D33VO L N
ETHO_RXCLK 25 33 - L N1 L N2
— |BXGCK T_PAD 7 DGND R95 249K +-1% v B N2
DPgsseomIBR T DGND % G1
ETHO_LEDO R96 4700hm_+-1% L4 Gl I G
DEND D33V E G2
Q LED_0: on for LINK, blink for TX/RX Activity —
- RJ45_GND
cs3 cs4 c85 c86
= 10uF_10V == 1uF_6.3V == 0.1uF_16V=F 0.01uF 50V
ETHO_LED1 R146 Oohm +-1% ETHO_RXLINK DGND
— "  R146 ,pOohm +1% = P ————>>ETHO_TXCLK 3
ETHO_TXEN 3
PHY address= 5'b00000 ETHO_TXDJ[0..3] 3
Bootstrap pins ———>>ETHO_RXCLK 3
ETHO_RXDV 3
ETHO_RXER 3
ETH0_COL R100,y_ 1.96K +1% p— ETHo_RXDl03] g
mode 1: FX_EN=0 & PHY_ADO=0 — SerHocol 3
DGND
ETHO_RXD2 : ETH_MDC 37
0_| R101 10K +-1% o D33V ETH_MDIO .7
[ Ri02\\\_ 249K +1% ETH_RESET# 3
mode 2: FLD_EN=1 & PHY_AD3=0 -
ETHO_RXD3 DGND
)_| R103.'.'.' 10K +-1% o D3.3V —————>>ETHO_25MHZ 3
[__R104,n 249K +-1% ETHO RXLINK 3
mode 2: AN_EN=0 & PHY_AD4=0 -
DGND
ETHO_CRS R105,0, 13K +1% o p3ay
[ R106y\_ 1.96K +-1% mode 2: LED_SPEED=1 & LED_CFG=0
Termination o&nD
ETHO_TDP ETHO_RDP
> R107 < R108
> 49.90hm_+-1% D3.3V 3 49.90hm_+-1% D3.3V
L R109 2 R110
= 49.90hm_+1% 3 49.90hm_+1%
ETHO_TDN ETHO_RDN




DP83822I MII: DP83822I MDI:
TXDO~D3, TXEN: PHY input TD_P/M: PHY output
RXD0~D3,RXER,RXDV, TXCLK: PHY output RD_P/M: PHY input
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